Homework 4.1 Day 1
Find the derivative of each function.
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Differentiating a/ ®and log,, f (x)
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Differentiating a/ ®and log,, f (x)

Homewor
#12)|Find the values of x where the tangent to the graph of

y = e** is parallel to 12x — 2y = 6
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#13)|Find the values of x\where the tangent to the graph of

y= e%" is parallel to 5x +y = 109
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#15)If f(x) = exz,‘what is the eéuati'a_abf the tangent line at
x=1?
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#16) f(x) = In(x?) on the interval —1 < x < e . On this
interval, ‘w: hen Will the average rate of change equal the
instantaneous rate of change? (Hint: Apply the Mean Value

Theorem)
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